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;\Q 1. Fill in the blanks selecting the appropriate
SQ\Q _ _ terms given under each bit : 1=5=5
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{SECT%)N—A : BOTANY) fa) Entry of pollen tube through micropyle
NOANCE during fertilization is called
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Answer all questions serially and continuously from

_ . {ii) porogamy
Group—A and Group—B as per instructions, and any two

Srom Group—C within 200 words each Bg 9eH
@ G ¢ FREQ 9AY 9 KR GAIQA6R 8 FASER ISR {iij) chasmogamy
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llustrate your answers with labelled diagrams and
examples, wherever necessary
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{iv} chalazogamy
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An association of two organisms living
together and benefitting each other is
called

99e Q9 @QYel 8 A9Qeg QRGO
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(i} mutualism [ HEQ@QIQGI
(i} saprophytism gﬁ@smmmm
(iii) paras'.tlsm\ LN L I

fiv) comm@s%hsm J darald

The bacterium that converts milk into
curd is '
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(i) Lactobacillus
RIQETIIgN

{ii) Azotobacter
SHERICSIYIRR

(iii} Rhizobium
QURERITLIF]

fiv) Clostndium
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Repressor protein is produced by
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(i) operator gene
IR ¥R

(i) structural gene
LSRR ﬁ‘ﬁ*

fiv) terminator gene
q@Uae oq

The capacity of a
lant : .
4 new plant is c.a_l_lp ed ocl to give rise to
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{t) totipotency
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(i} reproduction
Jdeae

(iti} budding
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(iv) regeneration
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2. Correct  the statement of each  bit,  if
necessary, by changing the underlined
word only 1 =5=5

2IGONR  Q6R, TR 2°EQ 6aWHIGe aag o SRua
QORID VY ACIIET R -
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3. Write notes on any three of the following,
(a) The excessive growth of plants in water- each with 2 to 3 important points : 2Ver3=7:
bodies due to enrichment of nutrients is geeues 99 g N6 998 94 @dIQ, RIRgS

called bioremediation, _ nag caead eI 991 R :
SRNIAYIRER amqs@ml caig QVeRQ

2NNe 98g 91% RN geiard|

fa) Linkage

Q AR
(b} The depa:rt@ of the species from a 4q
populatio@ during a time period is
immigration. (b} Biofertilizer
SIRAIIg FAITM @] QIRY AR eReQIQ

J960dIaid gRIaNd|

fc) Greenhouse effect
{c) In protandrous flower, carpels mature QAgRERIOD geue

earlier than stamens.
Qeqgrag guse cqda geq Ieel adag
QR 2|

{d) Single-cell protein
IREFF GRAIQ
(d] The process of formation of RNA from

DNA is translation. fe) Parthenocarpy
$AeQ AIPIRGQ 9o APQINe gRIad| 2AQJIeTRE
(e) Bacteria mostly reproduce by gemmules.
IRNGYRS QUGS PIRY YUY TLER (ff Endosperm
QG sfatsalls
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( 7 )
4. Differentiate between any one pair of the 6. Elcscribe the process of DNA replication.
following with 3 to 4 important points : 3%, eI 90Q0F 98a1 ogR «al
N g ¥G gge Qe <4 Adge ug
c0Eeal 691G 6QAIPIQ TERT IR - 7. Give an account of control of water pollution

e 6 @ @
faj Cleistogamy and Herkogamy 9386 P0369 9@ Ieae gele el

Ja~aoicd 8 g4ariaeealels 8. Gi
. we an account of the dwe]opment of male

fb) Hvdrosere and Z{cn@e gametophyte in angiosperms.
F6QISogn @ n@s\@gﬂ ZIeSIe QGeca 'YYeaq SR8 giae e
Sead gele eal

fc) Backcross QI‘-.eaﬂ;«::ram-sﬂiat
aﬂmaq 4 0 aelaq adeoad
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Answer any two guestions within 200 words each :
T=2=14
606Q100 QOF 990 2aa gEtIaT 00T AR fkIeQ
QB -

5. Describe Mendel’'s dihybrid cross with a
checkerboard.
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